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T 1 e K S & i OF R =-Rivi N E & &
KiEY BH 0.28m- 8% -/NMRE L(53.0+17.0)%0.3%0.425=8.925 m
T R EE R 2tD L=2.5km AR - /NRE 8.925-2.7625=6.1625 m
HEREL INSE 17.0%t0.325%0.5=2.7625 m
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T EH=EHEE
BT Eh 2 )| ZELR
T ] 2 K~ & it =1 =€ =-Ev) N E ] =
UZAIET SCEERXI0LE - ERRESD 53.0m m 53
EZREZREL A0kg/HLLF . Gr 504K 4 5
ERRERET 70kg/HELTF . Co 101.0%% 4 101
LEVREIEST T L=600 17.0m m 17
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T i 2 K~ i i =1 = B {1 I F fis
TR RC—40 t=275cm 0.3%(53.0+17.0) =21.0 mi 21
L ERAE C—20 t=10.0cm 0.3%(53.0+17.0) =21.0 mi 21
x=ET NIAAY OB AEFRIEF t=5.0cm 0.3%(53.0+17.0) =21.0 n 21
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T 2 2 K & it =1 = Ba {1 N E & =
SRR AsSEZERR t=5cm (53.0+17.0) +0.3%x2=70.6 m 70
SHAERRAE AL -FE0A  |AsEHZERR t=5cm 70.0%0.3%0.05=1.05 m 1

KEEH L=75kmEL ]
B T T 70.0%0.3%0.05=1.05 m 1
Asiz 5 E AR IEH 1.05%2.35=2.4675 t 2
‘ JL—VKERMNE 1H 70.0m*0.173t+106.04K%0.05t=17.41t
GRS RiE#K U2 otLl T 17.41/2.95=59[d] B 5
= BF7E/NR-Colll & 1741t t 17
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BB = 1 T =) 11#%

T ] 2 K~ & it =1 =€ =-Ev) N E & =
RiEY BH 028m-t 8% -/\RE L38.0%0.3%0.425 =4.845 m 48
T E R 2tD L=2.5kmLL T - /NRAE L38.0%0.3%0.425 =4.845 m 48
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BB = 1 T =) 11#%

T Ui i R T & it 1 E20 =R v N E fis %
URIAET SCHEERIOLE-HRRESE |30 m 38
EZREZREL 40kg/HLLF 30 " 3
ZRERET 70ke/ ML T 73.0 4 73
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BT E=ATE)R
T 12 2 K~ & B = =X =R [v2 N E ]
TE% RC—40 t=27.5cm 0.3%38.0=11.4 m 11 4
FER C—20 t=10.0cm 0.3%38.0=11.4 m 11 |4
xXET NIAAYVEOBEEFZRE20F t=5.0cm 0.3%38.0=11.4 m 11 |4




BB = 1 T =) 11#%

T 2 720 v NI M~ ~ it =1 = B {51 N E & =
SRR AsSEEEER t=5cm 38.0+0.3%2=138.6 m 38
SHAERRAE AL -FE0A  |AsEHZERR t=5cm 0.3%38.0%0.05=0.57 m 0

KEEH L=75kmEL \
B T T 0.3%38.0%0.05=0.57 m 0
Asiz 5 E AR IEH 0.57%2.35=1.3395t t 1
i JL—VKERMNE 1H 38.0m*0.173t+73.045+0.05t =10.224t
GRS RiE#K U2 otLl T 10.224/2.95=3 4[d] B 3
= BF7E/NR-Colll & 10.224t t 10
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T ] 2 4K~ i &t =1 =€ ==K v2 N E ] =
RBFEEREE REEEERESR 89H*20A=178A A 17

—BAYDEITHE

RIEY 32.0m 13.77/32.0=0.43H
TR EENR 140m 11.0/14.0=0.7880
BRL 40.0m 2.7/40.0=0.06 B
UBMAIESRE T 43.0m 53.0+38.0=91.0 91.0/43=2.1H
EMEE T (40kgLlT) [210.0% 8/210=0.86H

ERENTE T (40§8170kgLF)

120.0#%

174/120=1.45H

LERIEHE T

29.0m

17.0/29.0=0.58H
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T i 2 K i it 1 = =R vi N F fim %

TRERET 1110.0rd 27.3/1110.0=0.02H

LERET 1110.0m 27.3/1110.0=0.02 8

=xETI 2500 35.8/250.0=0.14H

As % i U] B 230.0m 109.8/230.0=0.47H

AsEhE R 810.0mi 32.4/810.0=0.04H

AsTIE ik 28.0mi 1.62/28.0=0.05H

IR 5 R A & 5.0[] 9.4/50=188H
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